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QUESTION 1

Given the following code sample:
DName+++++++++++ETDSFr0m+++T0/L+++|DC,KeywordS+++++++++++++++++++++++
D ElementsAllocateDsS...

D S 10i0

Which of the following best describes ElementsAllocateDS?

A. A syntax error

B. A long field name

C. A data structure

D. A qualified field name

Correct Answer: B

QUESTION 2

Given the following code:
DName+++++++++++ETDsFr0m+++T0/L+++|DC_KeywordS+++++++++++++++++++
das10i 0 Inz(5)

d b s10i 0 Inz(10)

d c S 10i 0 Inz(20)

[Free

if(b>aandc

c=1;

elself (a c);

c=2;

elself (a

c=3;

EndIf;

What is the value of the field C upon completion of the code?



D. 20

Correct Answer: D

QUESTION 3
Given the data structure below:

DName+++++++++++ETDsFrom+++To/L+++IDc.Keywords++++++++++++++++++++++ D Student DS Qualified D
Name 35 D Address 35 D City 21 D RegistDate D Inz(*Sys)

Which of the following defines a data structure named NewGrad and initializes its subfields to the same initial values as
those in Student?

A. DName+++++++++++ETDsFrom+++To/L+++IDc.Keywords+++++++++++++++ D NewGrad DS Likeds(Student)
B. DName+++++++++++ETDsFrom+++To/L+++IDc.Keywords+++++++++++++++ D NewGrad DS Likeds(Student) Inz

C. DName+++++++++++ETDsFrom+++To/L+++IDc.Keywords+++++++++++++++ D NewGrad DS Likeds(Student) D
Inz(*Likeds)

D. DName+++++++++++ETDsFrom+++To/L+++IDc.Keywords+++++++++++++++ D NewGrad DS Likeds(Student) D
Inz(Student)

Correct Answer: C

QUESTION 4

The following commands were used to create programs PGMA and PGMB.
CRTPGM PGM(PGMA) MODULE(A) ACTGRP(ACCOUNTS)

CRTPGM PGM(PGMB) MODULE(B) ACTGRP(*CALLER)

Assume the following:

Program PGMA calls PGMB.

Both programs return with *INLR = *Off.

It is necessary to reclaim the resources used by PGMB but not PGMA.

Which of the following actions or commands will accomplish this task?



A. RCLACTGRP ACTGRP(PGMB)

B. Set *INLR = *On in PGMB.

C. RCLACTGRP ACTGRP(*CALLER)

D. Recreate PGMB with ACTGRP(*NEW).

Correct Answer: D

QUESTION 5

Given the following code sample, what value is displayed?
D MyDS DS

D FieldA 5A Inz(\WXXXXX\\)
[free

FieldA = \W\WWXYZ\\;

Reset FieldA,

Dsply (\'FieldA=\\' + FieldA);
*INLR = *On;

BegSR *InzSR;

FieldA = \'ABCDE\\;
EndSR,;

A. FieldA=

B. FieldA=VWXYZ

C. FieldA=ABCDE

D. FieldA=XXXXX

Correct Answer: C

QUESTION 6
Which of the following parameters is required on the CRTBNDRPG command when binding by reference?

A. Module (MODULE)



B. Entry Module (ENTMOD)
C. Binding directory (BNDDIR)
D. Service program (BNDSRVPGM)

Correct Answer: C

QUESTION 7

For which of the following i5/0OS object types does RPG provide direct 1/0 support?
A. Data Queue (*DTAQ)

B. Data Area (*DTAARA)

C. User Index (*USRIDX)

D. User Space (*USRSPC)

Correct Answer: B

QUESTION 8

Which of the following determine the activation group in which an ILE RPG program will run?
A. The value of the ACTGRP parameter in the job description.

B. The activation group in which the calling job was running.

C. The value of the ACTGRP parameter when the program was created.

D. The value specified in a binding directory when the program was created.

Correct Answer: C

QUESTION 9

Which of the following is a restriction associated with using the OVERLAY keyword on a Data Structure subfield?
A. The Data Structure must be qualified.

B. The subfield type must be compatible with the overlaid field.

C. The subfield\\'s value may not be changed by an assignment statement.



D. The subfield\\'s length must not exceed the length of the overlaid field.

Correct Answer: D

QUESTION 10

Five existing programs are being converted for ILE. Two are to be bound into a service program and the other three are
to be bound into a single program object, which uses the service program.

After the appropriate coding changes, which of the following is the correct sequence of commands required to create the
program?

A. CRTSRVPGM, CRTPGM

B. CRTSRVPGM, CRTBNDRPG

C. CRTRPGMOD, CRTSRVPGM, CRTPGM
D. CRTRPGMOD, CRTPGM, CRTSRVPGM

Correct Answer: C

QUESTION 11

Given the following code sample:

d monthlyTotals ds Qualified Dim(12)

d amount 9p 2

d quantity 5p 0

d productDetail ds Qualified Dim(999)

d productCode 5a

d totals LikeDs(monthlyTotals)

Which of the following is a valid expression?

A. productDetail(5).totals.amount = 0O;

B. productDetail.totals(5).amount(5) = 0;

C. productDetail(5).monthlyTotals(5).amount = 0;
D. productDetail.monthlyTotals(5).amount(5) = 0O;

Correct Answer: A



QUESTION 12

Which of the following operation codes can be used to call both programs and subprocedures?
A. Call

B. Eval

C. CallP

D. CallB

Correct Answer: C
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